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I. Please complete the following reactions:
1.
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16.
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I1. Which compound reacts most rapidly with CH3;ONa? Explain the result.
O,N
(a) Br (b)O;N Br (c) Br(d) 5T (o)
OO AT KK .
O,N O,N NO,
O,N

[1I. Write a resonable and detailed mechanism for the following transformation.

0
H.C. OH H3C, CH3
OH 2 4 = .

IV.  Rank the following compounds in order of decreasing the acidity of the

indicated hydrogen.
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cis-4-Bromocyclohexanol and trans-4-bromocyclohexanol from the same
elimination product but a different substitution product when react with OH'.
Explain, by showing the mechanisms, why different substitution products are

obtained.

cis-4-bromocyclohexanol
O
- e

HO—<:>"'BF + HO’

trans-4-bromocyciohexanol




